Interpreting Graphs - Assignment
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1) What does the y-intercept represent? o
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Beginning value - step 0 (b) ? g o i
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Rate of change (m) ? : 7
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Write an equation y = mx+ b (P T
to represent the pattern Time worked )
Peanut Butter
2) What does the y-intercept represent? }}'
Beginning value - step 0 (b) ? 8 F i
5
Rate of change (m) ? x
Write an equation y=mx+ b
to represent the pattern
4 E L 3
Jars of Peanut Butter
3) What does the y-intercept represent? Cooling Water
Beginning value - step 0 (b) ? 4 \
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Write an equation y = mx+b “ \
to represent the pattern
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What does the x-intercept represent?




4) What does the y-intercept represent?

Beginning value - step 0 (b) ?

Rate of change (m) ?

Write an equation v=mx+ b
to represent the pattern

What does the x-intercept represent?
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5) What does the y-interceplt represent?

Beginning value - step 0 (b) ?

Rate of change (m) ? .

Write an equation y=mx+ b
to represent the pattern
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6) What does the y-intercept represent?

Beginning value - step 0 (b) ?

Rate of change (m)?

Write an equation v=mx+ b
to represent the pattern
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